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Q = {%I o, b e z, L*O} 1 \"a'}’;ono.l howm bevs
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A MYZI&I‘OK R betueen Fen m‘)(S A aod B is a subset R & AxB.
= (ab) € R & aRb

A fndion F:A>B s o veldtion such Hhat f aFb wd oFb Hen b=b
=> 4Fb & Fla)=b

An  eguvalene relabion on « st A is a relabion R £ AxA  sichtha
LR s veflexwve: aRo ¥ acA
2 Rs symz{'r:c‘- aRb & bRa
3. R is dwshve: aRb and bR wply o Re
=> aRb & a~b

l—d‘ A ke & _n'}'awl N an e@ivulm re’a‘hon on A
The equivalence clos of aeA s [2]= {beA) bral

The _q.vo‘,’ien‘lL &7" of the st A by e e%veL'ITon ~ s e s o‘)ce’-c[.‘u‘ses ofF A oder ~, ie.
A/~ = {1al) aeA}

Let Q = f%‘ o, b & Z, b to}.
Let ~ be defined by (b ~fd) & od=le. (%=%)

®R= Q/~ = {[n], [GD], (Ca-w] 3 = {o *,=4,.3 KT fu, @us o feld.
[ten] = {{"l'\, {011\. (U;tﬂr-'}

A ‘Md_ F is o st with two orcm‘}ionx alld oddition and mul‘ll-}al;c.a‘hm §Q+is'l:ﬂih3 the %Ucumﬂ axioms :

‘Additon: ¥ x4,z € F

I. closwe: *y 6 F

A commutatinly: xty= ytx

3 d-i!oc{ad‘-lﬁly Lok (ye2) = (x+q)+=2

Y4 addibve denty:  F 0 F

s addive wmvenes: 3 x eF ad that %+ (-x)=0
‘Milbgheafion: ¥ x4,z € F

I closwe: x4y e F

a ccnnd‘l‘ﬂd‘ifn‘l’&5 Xy = yx

3 aseaatuilyt x (42) = (kq)=

y mH’.];l;cd'.u dentdy: T L eF st lx=x

s mul"’.fl:m‘hve wvenes: ¥ x#0, A x' st xx' =

* Dishributve : x (4+2) = xy+xz
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Remork
S E dd € Q
Pr. Sufpese 42 e @ Then
2= T (ast both ew
Th = e'b: = o0*= b So o2 is evewn
Thos, i even, so ar o duwmbe by Y. Ths, 4
A ak?, b2 s cven. Hence b3 is even, cshs
Viokdes  our wital thon. Thes, 42 & ®




